CRYPTREC



TAO TIME PRN
STEP<1>
eg RAND() or Others
STEP<2> TAO TIME PRN
TAO ...cS V_STIME X_ R X
PRN
STEP<3> PRN PRN
C(n) S(n-1) C(n)  S(n-1)




C(n) S(n-1) C(n) S(n-1)

Client Client Server

C(n) = 9(n-1) - {cS(n-1) - cR(n-2)}
S(n-1) cS(n-1) cR(n-2)
RAND a(n-1) X(n-2) a(n-2)
Client Server C(n)
C(n)= C(n-1) +{sR(n-1)-sR(n-2)} -{cS(n-1) - cR(n-2)}

a()
Seed Seed

Server Server Client
S(n-1) =C(n-1) + {sSR(n-1) - R(n-2)}

Server Client S(n-1)

S(n-1) =C(n) +{ cS(n-1) - R(n-2)}
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a(n)
TAO TIME PRN
C(n) $S(n-1) C(n) S(n-1)

C(n) S(n-1)
an-2) aln-1)

an-2) a(n-1)

cS(n-2) cR(n-2) cS(n-1) cR(n-1)

a()



